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- CHO; HOOCCH( CHO) - -CH;;

~ ~

6x3=18

sp
(518101)
(K,) . 0.01 mol * L™' NaCl  0.01 mol * L™" AgNO,
AgNO,
AgNO,
2.
1. 2 25C K, Fe(OH); =8x10""
1 25C K, (CuOH), =2x10"". Fe( OH), Fe ( OH),
(1) CuSO, ¢(Cu’*) =0.02 mol « L™ o Fe't) 1.0mol « L7 pH= .
Cu( OH) , pH (OH™) =K, Fe(OH), /c(Fe'") =
(2) 0.2 mol * L' CuSO, Cu®* 8§ x107/1.0 =8 x 1077 ¢c(OH™) =2 x
( Cu** ) 10" mol * L™" ¢(H") =1.0x107"/(2x107"°) =
NaOH pH 5x10 7 mol * 7" pH=2-1g5=2-0.7=1.3.
. 2 %1077 2. K, Mg(OH), =
(1) e (OH7) = J705) = 56410 Mg(OH),
h %102 Y ., . i, :Mg(OH),(s) +2H" (aq) —
/ 0.02 =107 mol * L™ ¢(H") <107 mol Mg (aq) +2H,0( 1) c(Mg*)
L™ pH<5.(2) Cu®” 0.2/1 000 mol 1.4 mol + L™ pH =
-1 _ 4 1 _ _ 2)(10_20 _ 3.
L =210 mol = L o(OHT) = S 0 30 K, (AeCD) =1.8x107° K, ( Agl)
10 mol« L™ ¢(H") =10° mol « L™ =1.0 x 107", AgCl Nal
pH=6 Agl  Nal
1. K, (AgCl) =1.80x10°" AgCl ‘o Ag") = /K, (AgCl)
> @ NaHCO, 15
CO, | )
I .
|
CH,—CH—C—0—  )—CHO ] I
CH,
14 J 1 C ,
NaHCO, co, ; ,
: —COOH - CH,CH,CHO; - COOH ‘
OHC—CHO CHO—CHO
- CH( CH,) CHO; - CH,COOH - CH,CHO: _
-CH,CH,COOH -CHO: - CH( CH,) COOH O,N—\ /

( 12014 -05 -22)



. 48 - 2015.3
=/1.8x10 ° =1.34x10 * mol * L. Agl Ko( )
o(17) >K,(Agl) /e(Ag") =1.0x 107/ 2.
1.34x10° =7.46 x 10~ mol * L™ 6 25C K, Fe(OH), =8x10""

3.
BaSO, 25%C
K,(BaCO,) =5.1 x10"" K (BasSO,) =1.1 x
107", 0.15L1.5mol/L  Na,CO,
BaSO, ?

=4.0x107"
0.01 mol « L™

4 K, Fe(OH),
=11
K, Mg(OH), =1.8x10"".
Fe’*  0.01 mol * 17" Mg**
Fe’* Mg2+ pH

N ‘g /4 =0.2 1g /18 =0.6)
¢(Fe’") <1.0x107°
mol « L™ :e(OH™) = /K, Fe(OH), /c(Fe)

= /4.0x10 " /LOX10" = /4.0 x10 " mol + L™".
(H*) <1.Ox10™"/( /4.0 x10™") =107/ /4.0
pH= —1g( 107/ /4.0) = —( -3-0.2) =3.2.
Mg™* ¢«(OH™) < /18 x107°
o(H") =1.0x107"/( /18 x107°) =107/ /18
pH< -1g(107°/./18) = —( -9 -0.6) =9.6.

pH 3.2~9.6
4, Fe’* cr't
0.1 mol/L Fe’” cr'’
pH .
( 'K, Fe(OH), =4.0x10""

K, C(OH), =6.0x10"" lg /0.4 = -0.1 lgJ/4
=0.2 1gJ/6 =0.3 lg /60 =0.6)

~

1.
5
: CaS0,(s) +CO;” ==CaCO0,(s) +S0; .
298K K, ( CaCO;) =2.80 x 10”7 K,
(CaS0O,) =4.90 x 10~
K( ).
K=¢(S0;") /e(CO;") =K, (CaSO,) /
K,(CaC0,) =H20X107 ) 55 gy,
2.80 x10
5. K, (AgBr) =5.4 x

107" mol” « L™ K, (AgCl) =2.0x107" mol” « L™
AgCl(s) +Br™ (aq) ==AgBr(s) +Cl (aq)

Fe( OH),(s) +3H" (aq) Fe'*

(aq) +3H,0(1) .
K=c(Fe'") /c*(H") =K, Fe( OH),

+ ¢(H") - J(OH") =K, Fe(OH), /K =8
x10 P /(1.0x107")* =8 x10°.
3. ( )
7 BaCl, AgNO, KBr
¢(Br7) /e(Cl7) = . K, (AgBr)
=5.4x107" K (AgCl) =2.0x107"
K., (AgBr) =¢( Ag™) < ¢(Br) =5.4

x107" K (AgCl) =c(Ag") +c(Cl7) =2.0x
107" c(Ag™)

¢(Br7) /e(Cl7) =K, (AgBr) / K, ( AgCl) =5.4 x
107°/2.0x107°=2.7x10"°.

6. 25°C K, (BaCO;) =2.58
x107" K_(BaSO,) =1.07 x107°.25 C
BaCoO, Na, SO,
BaSO,

(€O )t o(807) =

~

BaSO, é
52
T X
(). “
A.
Na, SO, 0
a b
B d ¢
C.d BaSO,
D.a K., c K,
( bd) A ; d c
SOi_ Ba’*
; B
a c D . C.
1.¢( AgNO,) >1.3x10 7 mol * L7
2.8.3 3.1.1g 4.3.2~4.3 5.3.70
x10°  6.24.11 ( 12014 — 12 -08)



